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I 7R IR T - coercing a partner (when there isn’t enough to split and maintain integrity) to sell out or buy the other out

a
b

nMi’ 27 - this demand can be made
1M — this demand may not be made
i Challenge (837t0 27): how can a single item (e.g. slave) be split in an inheritance
ii ~ Answer: alternate days between brothers
1 Block: n:1 103 where a 2 5"y, 4 freeman is forced to be freed (due to v. 1), no split working
2 Defense: in that case, there is no T, as the 72y cannot be reenslaved
iii ~ Challenge: if 2 brothers, 1 rich the other poor, inherit an olive-press and a bathhouse
1 If: they used them for profit — split the proceeds
2 If: they used them for themselves, RB cannot force 1R 18 T
(a) Defense: here, again, there is no T, as poor man doesn’t have wherewithal to buy out RB
iv  Challenge: our mwn — anything that, if split, maintains its name, can be forced as a split
1 Ifnot: we estimate the value and split it (no X"»)
v Answer: R is a dispute among n'Rin —
1 If: one partner agrees to take less than the minimal amount, we allow it,
(a) Dissent: 3"av1 — we don’t allow
(i) Challenge: if read straightforward, why would »"2v disallow
1. Rather: dispute must be about 8™
(if) Correction: dispute is straightforward, »”aw7’s reasoning is:
1. If: beneficiary is asked to pay for extra piece —he doesn’t have the money
2. And if: he is being given as a gift — he could invoke v. 2
Observation (77a8): nT 27’s approach is that of YR1Ww in re: w1pn 'and; YRINW allowed if it is in 2 scrolls
i And:if we don’t confirm the right of 8”1, even 2 scrolls should be disallowed
ii ~ Answer: perhaps this is a case where they agree (- 1 scroll is forbidden, 2 allowed)
Final ruling (770N8): follows nm 17 (we confirm right to demand 8" — and we reject 1
i Challenge: X171 denied right of X" in case of 2 maids, each with different talents
1 Answer: in that case, there was no 8", as each partner needed both sets of talents
2 Challenge: in case of w1pn *and, both partners need both, yet YRmw allows split if in 2 scrolls
(a) Answer: case where they agree to split

II Tangential discussion about v7pn »an

a

Writing them together: n”y — permitted; »”1 — each of n’21n21 ©R21 ,n N together; »nan — each book separately
i Support (for »9): y"ar1 approved writing all 8 n’&>21 7190 together (OR: each one separately — n'non3)
i Support (for n77): 227 tells story of complete 7" written together which he validated
Division of o7790: 4 empty lines between each wmn and between each &’2); 3 empty lines between p>&21 of 1WY-"1n
i But:if a990 ends at the bottom of a column, no need for space —just begin at top of next column
ii ~ And:leave enough blank parchment at end to wrap around a pole; enough at beginning to encircle scroll
1 Clarification: this is only in re: other 0»90; a n”v is rolled from the middle
2 Tangential rulings: size of n"v (stories of ’R1INR who wrote n"o —v. 3)
3 Tangent: size of mm?% (vv. 4-7) dispute between n"1 (nnR=6 ©’nav, n"o was inside PIR) and "N’ 3 (MR=5 DNV,
n"o was on shelf outside of 1IR)
(a) And: the broken mm?% were also inside, as per vv. 8-9
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